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Question . = The average run of a cricketer after 18 matches was 56.5. If he made 101 runs
‘and 123 runs in 19th and 20th match respectively. What is his new average run after
20th match? -
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(a) 62.05 ‘_(b) 64.45 (c)60.75 (d) 61.25
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Question Two types: of rice (type 1 and type 2) were mtxed int é}

‘The mixture was then solc: @ 75.60 per kg to gain a profit of 2\0¢<& h
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General English
(Question Number 51 to 100)
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Question _ We cannot process colou(,,detarb of rapnd jcnanges in our furround
the cone shaped cells pac}(ed(&a& (\ thT centre of the retina. (
' /! A

| | i \\\ \ 0

() i ‘ck (b} missing  {c) effif'innt iH thour,
Question Jopan'sr'lvertl a.fm sﬁre\r‘gther{mg bonds with ASEAN cg\"l\ies n
countrrf-srecentlywona?37 mnlhon,contractto start ”f r\de nd'f:
ek :
system in Jakarta. ]l RIRY i M ."| \\\\ (\\‘-.\\_‘\\ i
(a) construction (bhr{\an‘g a"mre , {¢) launch ‘(‘\buiidmv ‘{‘. ‘-..\'- \ 18\ v &
1 1B
\ A \\ AN
Question  _ OneOI‘theP\ggestdrawbacks ofcor‘crﬁe rst at it c)) 'r
scientists have now _\ \/ i1) _self healing concrete. \ SIRE
(a) create (b) devised\ (¢) develop (d} mvented\\\ AEEE1RL
\ \

\\ \ ‘-\\ "'-.‘\
ycahc

/

Question Politicians have promised fo
poverty many times but have failed becaulse tl’\g
poverty and how exactly to measure it} | .‘ \ \lv
(a) achieve (higet (c) end (d t'nmh \‘ l\\
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Question In the 1990s, G

the proper seque et i¢] L‘Q}m a mcdmngful paragraph Lhen answer the given quesﬂons
- If you are'tra mqning from products to services or vice versa, you have to know and

understand trﬁs\e drderencns to effectively promote and sell.

B - For example, roduct is tangible, which means the custemer can touch and see the

product before deciding to make a purchase and a service is intangible.

C- Understanding the different challenges in product and,service marketing can help you

establish the right approach for this transition.

D - Unless you understand the basic difference of tangibility, it will be a challenge to promote

and sell your product.

E- Companies that are marketing a products face different challenges compared to those that

are promoting a services.
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Question The ‘Courage and Conviction” is the aul obl\a\gra hy\o‘Y?\ \\ >
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Question \\ Malrt Objeubve of the Antyodaya pr ogramme is to?

?q (b) plift the farmers (c) Uplift the landiess labour (d) Uphftthe poor

S

(a) Uplif Ith_Irlbaqp
(a)mmii\?;?\wb)mmmﬂ () PRA SR BITE (o) T 31

Question . \ The_ is the device connected to an electronic voting machine to take
outa venf}gblé ‘grint out of the vote that has been cast?
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(a) VVPAT (b) VIPAT (c) VEPAT (d) VUPAT
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